
Homework Chapter 1 

 

  

 



 

 

 



 

 

 

 

    

Output=200 boxes input = 40 hours  

a) 200/40=5 boxes/hour 

b) Increase output to 300 boxes. 300/40= 7.50 Boxes/hour 

c) New productivity – old productivity = unit increase in productivity ➔ 7.50 – 5 = 2.50 boxes/hour 

d) Increase in labor productivity ➔ 7.50/5 = 1.5. 50% increase in productivity 

 

 

 



 

200 hours per month x 12 months = 2400 hours a year 

2400 hours x 0.15  hot water heaters per labor hour= 360 

60,000 hot water heaters /360 = 166.67= 167 laborers 

 

 

     

a) 1,000 tires per day / 400 hours per day = 2.5 tires/labor hour 

b) Output: 1,000 tires per day 

Labor cost: 400 hours x $12.50 per hour = $5000 

Raw material cost: 20,000 pounds per day x $1.00 per pound = $20,000 

Energy: $5,000 per day 

Capital: $10,000 per day 

Total inputs = $5,000 + $20,000 + $5,000 + $10,000 = $40,000 

1,000 tires per day/$40,000 = .025 tires/dollar 

c) Energy reduction: $5000 - $950 = $4050 

New Total Inputs = $5,000 + $20,000 + $4,050 + $10,000 = $39,050 

1,000 tires per day/$39,050 = 0.0256 tires/dollar 

 

(Old – New) / Old → 0.025 – 0.0256 = -0.006 

0.0006/0.025 = 0.024 ➔ 2.43% 

 

 

 

 

 

 



 

       
a) Output: 1,600 loaves per month  

Labor: 640 work hours per month 

Pay: $8 per hour → 640 hours x $8 per hour = $5,120 

Utilities: $700 

Ingredients: $.40 per loaf → 1,600 loaves x $.40 per loaf = $640 

Total inputs: $5,120 + $700 + $640 = $6460 

1,600 loaves / $6460 = .248 loaves/dollar 

b) Output: 1,600 loaves per month * 55% increase = 1,600 x 1.55 = 2,480 loaves 

Labor: 992 work hours per month → 992 hours x $8 per hour = $7936 

Utilities: $700 

Ingredients: $.40 per loaf → 2,480 loaves x $.40 per loaf = $992 

Total inputs: $7,936 + $700 + $992 = $9628 

2,480 loaves/ $9628 = .258 loaves/dollar 

c) (new - old) / old → (.258 - .248)/ .248 = .04 ➔ 4% increase 

 

 

 



 

 

 

 

 

 



 

 

 

 

 



 

 

Monthly output of one worker = 2.344 loaves per labor hour x 160 hours per month = 375.04 loaves 

Increase in demand = 25% 

1,500 loaves x 25% = 375 additional loaves per month needed 

375/375.04 = 0.99 or 1 worker needed  

 

Monthly output of one worker = 2.344 loaves per labor hour x 160 hours per month = 375.04 

1,500 loaves x 55% = 825 additional loaves per month needed 

825 / 375.04 = 2.20 ➔ 3 workers needed  

 

 

 



 

a) 7,200 vans / 320 laborers = 22.5 laborers per van 

22.5 laborers per van / 0.10 vans per labor = 225 hours/laborer 

 

b) 7,200 vans / 320 laborers = 22.5 laborers per van 

22.5 laborers per van / 0.12 vans per labor hour = 187.5 hours/laborer 

 

a) 6,600 vans / 360 = 18.3 laborers per van 

18.3 laborers per van / 0.12 vans per labor hour = 152.8 

b) 6,600 vans / 360 = 18.3 laborers per van 

18.3 laborers per van / 0.13 vans per labor hour = 140.0 hours/laborer 

 

     

a) Wages = $8 per hour x 640 work hours per month = $5,120 

Utilities = $600 

Cost per loaf = $0.50 x 1,500 loaves = $750 

Total inputs = $5,120 + $600 + $750 = $6,470 

1,500 loaves / $6470 = .232 loaves/dollar 

b) Increase output by 25% 

1500 * 1.25 = 1,875 loaves 

Wages = $8 x 800 hours per month = $6400 

Utilities = $600 

Cost per loaf = $0.50 x 1875 loaves = $937.50 

Total Inputs = $6,400 + $600 + $937.50 = $7,937.50 

1,875 loaves / $7,937.50 = .236 loaves/dollar 

c) (new-old)/old → (.236 - .232) / .232 = 0.0172 ➔ 1.72% increase in productivity 

 



 


